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BETIEVWCARBDE=ZY » 7FEE (SMTHETHBAE)

BFCESA ~BRTETH  BETIZVWCARE (t/kn’/30H)
PR iU A 10085 [ 11AS [ 12A% 1H %5 47 3H% IEES 545y
W53y« Tialh (HiANo. 1) 2 9 17 4 10 40 28 12 11
W3 - EEER (HiSNo. 2) 5 3 3 1 1 3 5 15 8
B4 (H5No. 3) 2 2 3 1 1 2 3 2 2
SEVE() (M No. 4) 1 1 4 1 1 1 3 3 2
FEOM (H145No. 5) 9 10 10 3 3 3 5 10 7
(B TEF) SERRITEE BRIV UAKRE (t/kn?/30H)
PUBHER U 9As [ 1045 | 115 | 128 % 4y A5 3H 5 457 5H %
W53y« T (HiANo. 1) 7 5 2 6 14 44 35 11 6
W3 - BEER (HiSNo. 2) 5 18 40 13 18 15 13 35 13
B4 (Ha5No. 3) 1 4 3 3 22 4 11 4 3
SEVE() (M5 No. 4) 3 11 3 2 21 4 10 5 2
FEOM (H145No. 5) 15 8 12 3 17 3 7 9 3
(TEFEHTAD SERRI2AEE BRIV UAKRE (t/kn?/30H)
FUBHR Bt oAy | 10H% | 11Hs | 12H 4y Ho 3H % 4857 5H %5
W53 - TR (HRNo. 1) 7 3 5 3 4 — 5 5 5
WGy - B (HiSNo. 2) 7 4 13 25 4 5 8 6 7
E4&M (H5No. 3) 4 3 4 3 5 3 5 5 4
SEVERI (i ANo. 4) 4 4 4 4 3 3 3 6 5
YAl (H5No. 5) 12 3 10 4 2 — — 6 6
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